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1 1180 C8 f5Th B/
2 1140 H. H 2HTh —FINFER
3 1130 HI INET AN
3 1130 H-S INET TRINER
3 1130 HE FAH B Tmh B /N
6 1120 H-K B Tmh B TR/
6 1120 B12 f5Th B/
8 1110 M-H PN i) EREINER
8 1110 Bii f5Th B/
10 1100 I-T PN i) EREIER
10 1100 5117 KEHh EREINER
10 1100 NY INVET A BN R
10 1100 B10 51 HER/NERR
10 1100 C18 i Th HER/NERR
10 1100 WF BEmE 5 Th BIE /N
16 1090 S.R KEFmh = H/D

16 1090 =%601 B LU =E/INFER
16 1090 SE AT BEITHR/INER
16 1090 IK Ear 000 BEE/NER
20 1080 29T 7K FFHT E LR /INVER
20 1080 O-A PN EREIINER
20 1080 b B E S HEmR/INER
20 1080 SY f2Hm R /N
20 1080 9 d.r RMAT SRR RNER
20 1080 515 =RMAT HE/NER
26 1070 5229 24l ES/MER
26 1070 Y.T KEFH =EH/D

26 1070 il 258 = EET FHE/DER
26 1070 ZH Bih EUEET FH/NER
30 1060 5119 T ES/hER
30 1060 S5107 NSl TE/NER
30 1060 5110 XEH HHENER
30 1060 IIES RFTH RKAENDER
30 1060 I-D #5:Th TR/
30 1060 A3 #5:Th B/
30 1060 501 2Hm BRI
30 1060 MA 2Hm EIKFRINER
38 1053 38 5 Th SMEFINER
39 1050 113 Hhoth EIR/INER
39 1050 KT NSl ERRAENER
39 1050 N-T NSl EREIINER
39 1050 I-A INVET ERINER
39 1050 TT B LT BEsE /D
39 1050 BS B LT BEsE /D
39 1050 TE I RKE/NER
39 1050 Hh BB #5:Th & iE /AR
39 1050 20 #5:Th SMEFINER
39 1050 514 2Hm FKILDNER
39 1050 1z FA kT AT BE/INER
50 1040 ITHhiE K FHT HH b /NER
50 1040 TR PN il BREINER
50 1040 5214 PN dit] FHREINER
50 1040 NT INVET A BN
50 1040 TK INVET =JI/NFER
50 1040 km RIFTH BEER /N
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50 1040 =H RIFH KAENER
50 1040 121 RFFH BITR/INER
50 1040 D Y aait] FITHE/INVER
50 1040 I-Y B Tmh TR/
50 1040 M-Y B Tmh TR/
50 1040 19 B Tmh SLEF/INER
50 1040 A R 2HTh —FINFER
50 1040 Titu Ear 000 BN
50 1040 TR RE 5 JEHT =ZE/INVER
65 1030 Vi3I0 K HT ELER/INVER
65 1030 T.Y 7K HT B3
65 1030 TK K HT BN
65 1030 S.M AT KEF/NFR
65 1030 Y.S 2l KEBE/NER
65 1030 5118 tREITh EE/NER
65 1030 $5120 XEh TE/MNER
65 1030 M.S KEFmh EH/)
65 1030 5223 PN i) FHEINER
65 1030 K-R INVETH EERINER
65 1030 ND B LU N
65 1030 NT B LU N
65 1030 Y-A 5 Th B TR/
65 1030 Bk i 5 Th TEIE /IR
65 1030 H.M 2Hm FRAE R /INER
65 1030 Y.S 2Hm FRAEEINER
65 1030 —B25 i=Eauit] BH#F /R
65 1030 TK Ear 000 BEE/NER
65 1030 FaF Kih 5 SR ET =FE/INFER
84 1025 MmN _BA b Eaait] BHE/NEER
84 1025 WA Ky b Eaait] BHE/NER
86 1020 121 Hhom ElR/IMNFER
86 1020 K. T Hhoth FHIDNER
86 1020 ERE Hhoth B ARINERR
86 1020 Hy Hhom = R/
86 1020 M.Y JKEZFHET AR /N AR
86 1020 TY T KEF/NFR
86 1020 5101 T ES/hER
86 1020 5219 T ES/hER
86 1020 YT % i AT EEINE A
86 1020 k.h EHULET AIENFERR
86 1020 S5224 NSl TE/NER
86 1020 YT PNl ERRAENER
86 1020 5213 PNl EREDNER
86 1020 SS INETH =EUNER
86 1020 E=506 INETH EE /N
86 1020 50110 B LU BESF/DNER
86 1020 T-R #5:Th fE TR/
86 1020 U-R #5:Th fE TR/
86 1020 i Bt HET HEE/DNER
86 1020 UR 2Hm TREI
86 1020 KY 2Hmh R/ AR
86 1020 KKE 2Hm FKTEDER
86 1020 TS 2Hm FKTEDER
86 1020 5122 2Hm BEEE/IMNFER
86 1020 5219 2Hm BEEEIMNFER
86 1020 5222 2Hm BEEEINFER
86 1020 =E9B 2HTh BH#/N AR
86 1020 =E108 2Hm BH#/N AR
114 1016 40 #5:Ih SMEFINER
115 1010 M.M K FFHT R/ NERR
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115 1010 5226 tREITh ES/NER
115 1010 508 PN i) INLINEERR
115 1010 5211 REFHh ERREINER
115 1010 E=504 INET E = /NER
115 1010 NS BELL T g /N
115 1010 MK BELlL T g /N
115 1010 —= kI EIIR/INER
115 1010 YK B Tmh TR/
115 1010 M &= f5Th B2/ NP
115 1010 32 B Tmh SLEF/INER
115 1010 AT 2Hm FRAEEINERR
115 1010 YT 2Hm FRAEEINERR
128 1005 34 B Tmh SR
129 1000 208 Hhot EIR/INER
129 1000 1-3 Hhot FEINER
129 1000 1-5 Hhoth EEINER
129 1000 3-8 Hhoth EEINER
129 1000 PIEY 7K FFHT S HE/INER
129 1000 K. M K HT EE/NER
129 1000 JH AR EI KEF/NER
129 1000 D.N AR EI KREF/DNFR
129 1000 k.r EFHUET A NERR
129 1000 S5126 Nt TE/MNER
129 1000 RI X8 ERAENER
129 1000 TH INVET SENMNER
129 1000 NR INVET A BN R
129 1000 M.T INVET sk INERR
129 1000 O-T INVET EERINER
129 1000 kr kI BEER /N AR
129 1000 A+E RFH RKAENDEKR
129 1000 Bl HEE S Eaait] BHE/NFER
129 1000 X _HiE  Eanit] BEHE/NFER
129 1000 A8 #5:Th /N
129 1000 A13 #5:Th /N
129 1000 EE &R #5:Th BIE/NER
129 1000 & EE #5:Th BIE/NER
129 1000 AE E4 = EET FH/NER
129 1000 N.M 2Hm FRAE R /NER
129 1000 503 2Hm KA INVER
129 1000 KK 2Hm EIKFRINER
129 1000 TG 2Hm EIKFRINER
129 1000 fEih fi=Eauit] EINER
158 999 30 5 Th SMEFINER
159 990 2-9 Hhoth £E2INER
159 990 0K K FFHT AR /N AR
159 990 NI AR Ei KE /IR
159 990 5104 T ES/NER
159 990 5110 T ES/NER
159 990 5132 T ES/NER
159 990 K-K % i BT e TN 5
159 990 t.s EEULHET AR NERR
159 990 A4 [A505 INET 0% A/NER
159 990 EZE505 INET EE /N
159 990 KT B LT BEsE /D
159 990 NY B LT BEsE /D
159 990 =%E602 B LT =FINER
159 990 tk RF™H BEER /N
159 990 P RFTH KA /NFER
159 990 A RFH KA /NFER
159 990 3] b Eaait] EIRIMNER
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159 990 K1 B Tmh TR/
159 990 17 B Tmh SEFINER
159 990 BIE F/IT HEH HEmR/NER
159 990 i iEr HEmH HEBE/NMNER
159 990 K.R 2Hm FRAEEINERR
159 990 MT 2Hm FRETINEEESS
159 990 508 2Hm BRI DNER
159 990 5112 BHT BRE/INER
159 990 5126 BHT BRE/INER
159 990 FESH 2HTh BAET/INEAS
159 990 HE178 2Hm BE T /IVEAR
159 990 Ishu AR HT AT BE/NFER
159 990 Nhi AR HT AT BN
159 990 Yya A R EITET FINER
159 990 24 m.s ESal SRR RNVER
159 990 502 EP ) EEF/NVER
159 990 510 EEMT HEA/NER
193 980 1-1 Hhoth EEINER
193 980 1-7 Hhoth ﬁ;’ill\fﬁ'i
193 980 1-8 Hhoth EEINER
193 980 1-15 Hhiot & EINER
193 980 2-12 Hhoh EEINER
193 980 PEVAY Hhoth R NFEERS
193 980 TN 7K FFHT AR /N ERR
193 980 Y.M oAl KKEF/DNFR
193 980 5311 oAl ES/MER
193 980 T-N 5% FiT BT e TN 5
193 980 T-S PN AN 5
193 980 5208 PN i) ﬁ%ﬁﬁll\—?— %
193 980 DS INVETH = EUNERR
193 980 K-W INET EENER
193 980 K-S INET EEINER
193 980 M-S INET EEINER
193 980 N-H INVET KN
193 980 KH B LT BEsE /N
193 980 MH B LU BEsE /N
193 980 MY B LT BEsE /N
193 980 MR B LT BEsE /N
193 980 si R BEER /N AR
193 980 su kI BEER /N AR
193 980 YY kI RERDNER
193 980 8 IRFh = EHT = EHf/MER
193 980 K-S #5:Th fE TR/
193 980 Al4 #5:Th /N
193 980 A16 #5:Th /N
193 980 RE AN 5T TEIE/NVERR
193 980 Kig &% EUEET FH/NDER
193 980 Y1 2Hmh RRAEEINER
193 980 S. J 2Hmh —R/INFER
193 980 504 2Hm B INER
193 980 5109 2Hm BEEMNFER
193 980 FE1158 2Hm BH#F /R
193 980 SW AT BE/NER
193 980 5 ky el HEPRNER
193 980 20 m.d el HEPRNER
193 980 KE f#E 5 JEET =FE/INFR




